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AnapTameHT 3 1 1 59.49 9.51 69.00] 1,150 € € 79,350
AnapTameHT 4 1 1 53.12 8.49 61.61] 1,150 € € 70,852
AnapTameHT 8 2 59.49 9.51 69.00] 1,150 € € 79,350
AnaptameHT 11 - 3 53.29 8.52 61.81] 1,200 € €74172
AnapTtameHT 13 1 3 59.49 9.51 69.00] 1,150 € € 79,350
AnapTtameHT 18 1 4 59.49 9.51 69.00] 1,150 € € 79,350
AnapTameHT 22 1 5 54.49 8.71 63.20] 1,200 € € 75,840 STOP
AnapTameHT 23 1 5 59.49 9.51 69.00] 1,150 € € 79,350
AnapTtameHT 25 - 5 57.34 9.16 66.50] 1,150 € €76,475
Bcuuko: 515.69] 82.43] 598.12




